MAX XM 144 R line
assembly
instructions

ver.01 - 06.2011



TIME SEQUENCE TO BE FOLLOWED:

1. STRUTS AND PLATFORMS
2. ARCHWAY

3. PARAPETS

4. SLIDE

5. CLIMBING BOARD
6. UNDERGROUND LAYING/ANCHORAGE OF STRUCTURE

Le misure scno espresse in cm.

DR

Celori e modelli rappresentati
sono puramente indicativi

i

denominazione
efo cliente :

istruzioni di montaqggio
Linea MAX XM 144 R

firma esecutore : ?z@

data : 28.06.2011

nr.

pag. 1/1




NOTA BENE: it is recommended to fix the bolts

Article fixing CODEN. NAME definitively and only insert the caps once the
num. correct positioning of the elements has been
1 2 xpell Shaped PE nut protection cap verified.
2 2 xpel0 PE nut protection cap
3 4 xpel16 PE cap
4 4 - ISO7089 @8 washer
5 2 UNI7473 M8 self-Tocking nut
7 2 UNI4017 M8X155 HEX SCREW
NOTE: -
- Th lours and m Is in th \
' e colours a d .ode's the N
image are purely indicative. /]

- The platform can be in engineered wood
or wooden planking.

Le misure scno espresse in cm. @@M@%@%@
tenominazione ] .- -
Colori e modelli rappresentati efo cliente : istruzioni di montagglo
sona puramente indicativi montanti e piana”
1)
firma esecutore : [%@ﬁ data : 16.02.2011 . pag.1/1




NOTA BENE: it is recommended to fix the bolts definitively and only insert the caps once the correct
positioning of the elements has been verified.

1. Position the archway between the struts and fix it by inserting: 1 x M8 washer (3), T x M8x260
TORX screw (2), 1 x @25 mm. winged PE cap (1) into the upper part;

1 x PE nut protection cap (4), 1 x M8 washer (3),

1 x M8x260 TORX screw (2), 1 x PE cap (5) into the lower part.

v

™
_ H
T T )
I 1 J’/
- @@ \b ?( |

™ ) ”‘;

2. Repeat the operation for the opposite
side. Fix the other archways.

Le misure sona espresse in cm. HRALZERER0
d;*nominaxionc- istruzioni montaggio
Celori e maodelli rappresentati efo cliente : -
sono puramente indicativi entrata in Pe
" MAX-SULTAN-OXI-0ASIS
firma esecutore : % data : 03.03.2011 . pag. 1/1




NOTA BENE: it is recommended to fix
the bolts definitively and only insert
the caps once the correct positioning
of the elements has been verified.

1. Position the PE parapet between the
struts, resting the two lower fixing wings
on the platform and then fix using:

4 x M8 washer (3)

4 x M8x80 TEL screw (2) WOOD

4 x M6 3x60 TEFR screw (2) ALUMINIUM

4 x @25 winged PE cap

2. If necessary, repeat the operation on the other parapets.

Le misure scno espresse in cm.

SRZEEET

Celori e modelli rappresentati
sona puramente indicativi

i

denomina sione
efo cliente :

parapetto in Pe Max/Sultan/Oxi

istruzioni montaggio

firma esecutore : ?z@

data : 16.06.2011

nr.

pag. 1/1




Article
num.

Default/
Quantity

NAME

1

1

Aladin tower

1

Aladin PE archway

1

Curved slide h.84

IS07089 @8 washer

M8x180 TORX screw

o Vv b W N

BB D

PE cap

1. After having fixed the PE archway (2), place the body of the
curved slide (3) on the platform of the tower (1) and insert
the bolts, necessary for fixing, into the holes present on the
slide (3).

2. Check correct positioning, verticality and parallelism. Fix
the bolts definitively and position the caps.

3. Repeat the operation also on the other side of the
slide.

NOTE: COLOURS AND MODELS
REPRESENTED ARE PURELY
INDICATIVE

Le misure del disegno sono espresse in cm.

O LZEOES

*lavorazioni legname impregnato + 0.2 (em)
*Compenentiin metalke £ 1 [mm)
“Compowenli inalli maleilali plastivi £ 15 hnml

Tolleranze nenerali applicate: denominaziche - T . .
*sezlonefdlamerra leqname Impeanato 05 1em) . i istruziani di mﬂntagg io scivelo curve
*Lunghcazd kgname impregnate 19 lung. totak:) EfO cliente;

pe can entratina lina
ALADIN - MAX - SULTAN - OXI - DASIS

firma esecutore:

Alfiors |®= 03.03.2011 | pag. 1/1




NOTA BENE: it is recommended to fix the
bolts definitively and only insert the caps
once the correct positioning of the elements
has been verified.

FT_ | 1. Insert the (5) M8x70 threaded bars into the
bushes present on the (6) climbing board.
\ 2. Attach the climbing board (6) by introducing
the threaded bars (5) into the pre-drilled holes
\ in the platform frame; these were previously
fixed by inserting the PE nut protection cap (4),

M8 washer (3), M8 self-locking nut and (2) and
PE cap (1.

~ \ 1) 2 x PE cap
i J ,\\, 2) 2 x M8 self-locking nuts
— |
L . / /lﬁ 3) 2 x M8 washer
- \ T 4) 2 x PE nut protection cap
h’\ i‘\ 5) 2 x M8x70 LG* threaded bar
*LG: Wood \\ @ ) 6) 2 x M8x50 AL* threaded bar
.. ! / 7) PE climbing board
*AL: Aluminium y = : J
\L\-_J//,/’/
Le misure scho espresse in cm. =K [N %@%@
Colori ¢ modell rappresentati d;’no:ﬂirlafion(- istruzioni di montaggio
tc indicativi efo clienle : T
Isgn;g;rl;n:fl':i:allin‘ra“;';au:lﬂwr da 84 0144 em Pedana di risalita Pe
Il pranale rappn:stn‘ratoémdlcatwojm Max l Sultan f Aladin l oxi
firma esecutore : % data: 17.06.2011 |"" pag.1




rubber safety
flooring

Concrete deck

Le misure scno espresse in cm.

SRLZENEET

Celori e modelli rappresentati
sono puramente indicativi

i

denominazione
efo cliente :

istruzioni montaggio
interro montanti

firma esecutore : %@j

data :

15.02.2011 nr.

pag. 1/1




1. Excavate a hole with diameter of 30 cm and depth of 60 cm

2. Cast a first layer of concrete with thickness of 10 cm.

AN
N . —
Le miswre del disegno sono espresse in CIM g:g’@ﬁjlrl ;Ag:g*@fjg:% O}
Tolleranze qenerali applica fe- denominazicne
"sezlonefdlametra leqrame Impoeaqnata 4 05 Lem) . | . . g .
*Lunghcazd kgname impregnate 19 lung. totak:) EfO cliente; Ist[u2|0 ni d| montagg 1Q
*lavorazioni legname impregnato + 0.2 (em) - .
“Component] in melie +1 (mm) interro scivolo eurvo Pe

“Compowenli inalli maleilli plastivi £ 15 hnmi

firma esecutore: 74/5‘6{‘;’ data: 310505 nr. Pag. 1




3. When the concrete has set, position the slide bracket in the
%, excavation hole, checking the correct alignment of the lower
\ part of the slide with the finished ground level.

/ //
/
/\ A
I A
|/ |
ﬁ\ ! ’f
\ ’
\ ’
T i

"sezlonefdlametra leqrame Impoeaqnata 4 05 Lem)
*Lunghcszd kgname impreghale 190 lomg. tolab:)
*lavorazioni legname impregnato + 0.2 (em)
*Compenentiin metalke £ 1 [mm)

“Compowenli inalli maleilli plastivi £ 15 hnmi

efo cliente;

Istruzioni di montaggio
interro scivolo curvo Pe

firma asecutore:

Abtiers

data: 31.05.0%

nr.

Pag. 2




AN

; = /
: oo : /
. D i i )
. B ’/_ Rk N
- ',r'r . -
" - iR l,"‘ .- H r
. /- R St
;” 4. Complete concrete
E— £ casting as per layout.
5. When the concrete
— has set, fill the
W - : excavation hole by
- i B compacting the infill
material up to the
30 finished ground level.
L]

Le misure del disegno sono espresse in g:g@ zg%g@gg @
nglzrlzxnnlje‘:!E\Prnn:gcllilnggpmﬂ:;n meqnato 05 em) denominazione 1 1 el 1
*Lunghezzd kgnamc?mprcgnallo 1glillun-§.tnl.akl EfO cliente; ISt fuzionl dl mao ntagglo
i #inni | i to + Q. [em) i i
“Componcat] NMEE e 1 i)+ interro scivolo curvo Pe
“Compowenli inalli maleilli plastivi £ 15 hnmi

firma esecutore: 74/5,5/‘}, data: 310505 nr. Pag. 3




1. Attach the brackets (1) by introducing the following in
sequence: PE nut protection cap (2), M8 washer (3),

M8x25 HEX screw (4), PE cap (5).

1. Excavate two holes with diameter of 30 cm and depth of 60 cm

2. Cast a first layer of concrete with thickness of 10 cm.

NOTA BENE: it is recommended to fix the
bolts definitively and only insert the caps
once the correct positioning of the
elements has been verified.

0.00

=" 60,00 e’

N

- 1
R

s e ot

39

3. When set, position the climbing board brackets
in the excavation hole, checking the correct alignment of the lower part of the
platform with the level of the finished ground level.

4. Complete concrete casting as per layout.

\ 5. When the concrete has set, fill the excavation hole by
compacting the infill material up to the finished ground level.

\

Le misure scno espresse in cm.

SHLZECES

Celori e modelli rappresentati
sono puramente indicativi

i

tenominazione ] .- -
efo cliente istruzioni di mantaggio

interro pedana di risalita Pe

firma esecutore : ?z@

data :

15.02.2011 . pag.1




1. Drill.

2. Clean the hole thoroughly using an air pump and small brushes.

3. Insert the anchor into the hole present on the bracket
with the aid of a hammer.

4. Tighten using dynamometric wrench.

rubber safety flooring

4 x M10x90 screw anchors

Le misure sono espresse in cm.

FOLZHRED)

Colori e modelli rappresentati
sono puramente indicativi

denominazione
efo cliente :

istruzioni di montaggio

ancoraggio montanti con staffe

firma esecutore :

1f

data : 14.02.2011

nr. pag1




Article num.] Quantity CODE N. NAME

xfe265 59x59x35 stainless steel angle bracket
xpel0 PE nut protection cap
xpell16 PE cap

MT0 self-Tocking nut

_ M8x115 screw anchor S

o Vil A W N —
R QU [ Y NS S

@10 washer

of the screw anchor.

2. Drill the support surface and position the screw anchor.
3. Fix the angle bracket to the support surface using the relevant
bolts, as indicated in the figure.

1. Position the slide on the support surface, marking the position /7-?\ o #
//

N
\ -
/
\‘\\“__ /
“‘{Mﬁ

N.B. The combination of colours and models represented is purely
indicative.
The slide can be at a height of 84-144-192 cm.

Le misure del disegno sono espresse in~ €M g:g’@ﬁ;ll Zg:g’@fjgsl.{a}

Tolkeran=s nenerali applica be- denominazi@ne

"sezlonefdlametra leqrame Impoeaqnata 4 05 Lem) . | - - - .
*Lunghcszd kgname impreghale 190 lomg. tolab:) Efo C||ente . |St ruzioni dl montagg 10
*lavorazioni legname impregnato + 0.2 (em) - .

*Compenenti in metalk 41 [mml ancoragglo scivolo curvo pe

“Compowenli inalli maleilsli plastivi £ 15 hnml

firma esecutore: 74/5‘6{‘;’ data:  16.02.2011 |m™ pag.1




Article | Quantity |CODE N. NAME 1. Position the climbing board on the support surface and mark
num. the position of the screw anchors.

1 2 xpel0 PE nut protection cap 2. Drill the support surface and position the screw anchors.

2 2 xpell6 PE cap 3. Fix the angle brackets to the support surface using the

3 1 _ PE climbing board relevant bolts, as indicated in the figure.

4 2 xfe265 59x59x35 stainless steel angle

bracket

5 2 _ MT0 self-lTocking nut

6 2 @10 washer

7 2 - M8xT115 screw anchor

NOTE: the combination of colours and models
represented is purely indicative.

The climbing board can be at a height of 84-
144-192 cm.

Le misure del disegno sono espresse in CM

O LZE O

Tolleranre nenerali applicate-
"sezlonefdlametra leqrame Impoeaqnata 4 05 Lem)

denominazione . . e ]
istruzioni di montaggio

*Lunghecszd kyname impregnale 190 lung. tolak) Efo cliente; h

*lavorazioni legname impregnato + 0.2 (em) | ncoragglo Peda na

*Compenentiin metalie 41 [mm] - . - f

“Compowenli inalli maleilsli plastivi £ 15 hnml dl r|Sa||ta n Pe
firma esecutore: 74/5‘6{‘;’ data: 19.06.06 nr. pag. 1




